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CERTIFICATE IN WATER HARVESTING 
AND MANAGEMENT (CWHM) 

Term-End Examination 

June, 2012 

ONR-001 : INTRODUCTION TO WATER 
HARVESTING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	(a) What do you understand by surface 	2 

irrigation and ground water irrigation ? 

(b) What are the main sources of surface and 	2 

ground water ? 

(c) What do you understand by per capita 2+1+1 

water availability ? What was the average 

per capita water availability in the country 

in 1991 and what is the projected water 

availability in 2025. 

(d) What was the irrigation potential created 	2 

during IV and VIII five year plans ? 

	

2. 	(a) Explain the role of ground water in India 	3 

Vis-a Vis surface irrigation for increasing 

agriculture production. 
(b) Describe measures to achieve high irrigation 	2 

efficiency in irrigation commands ? 
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(c) State the principle of rainwater harvesting ? 	2 
(d) Show with examples the rainwater 	3 

harvesting was practiced in ancient time 
also ? 

	

3. 	(a) Define water pollution ? Distinguish 2+3 

between surface and ground water pollution 

(b) What are the different advantages of 	3 
rainwater harvesting ? 

(c) List one water harvesting structure each in 	2 
Karnataka and Tamil Nadu. 

	

4. 	(a) What does ITK mean ? List three main ITK 1+3 

water harvesting structures used in 
Rajasthan. 

(b) Define watershed. 	 1 
(c) Show different watershed activities using 	5 

a neat flow diagram. 

5. 	(a) What does DPAP stand for ? What was its 1+1+1 
main objectives, where was it initiated ? 

(b) What is the approach of watershed 	2 
Management ? 

(c) List the watershed activities to be 	2 
undertaken under 'R'. 

(d) How are per capita land and water 	3 
availability declining ? 
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6. 	(a) What is the importance of bottom up 	4 

approach in effective implementation of 

watershed projects ? 

(b) What does institutional arrangement mean 

for effective implementation of watershed 

projects ? 

(c) What is the role of state level Nodal Agency 	3 

in executing watershed projects ? 

	

7. 	(a) What does WDT stand for ? What are the 1+4 

subject matter expert's constitute WDT ? 

(b) What do the following stand for : 	 5 

(i) PIA 	(ii) VO 

(iii) UG 	(iv) SHG 

(v) WC 

	

8. 	(a) Enumerate five important points to be 	5 

considered for undertaking PRA exercise. 

(b) What do you understand by integrated 2+3 

farming systems ? What are main farming 

systems which can be integrated with 

cropping systems ? 
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1. 	(a) Trat (surface) #11qft3 ATI Ac-i (ground 	2 

water) #1-411 31T7Iu 	? 

(b) Tr-de t4 01:1   all 14 ? 	2 

(c) 	 egickt wMTTFaraT aTrq 4;E1 Tri:qA ? 

	

1991 	1 3111:1T1-51fa otiretcr ,71(1Z7F-4-MT 

fWat 2,11- 3 Ti 2025 -4 -gruff Tc ZrEd-ardT 

	

,zrr t ? 	 2+1+1 

(d) Atft 31-r-d-q 	717ff 2 

141.1Wr Azrr 941.? 

	

2. 	(a) .fa dcaiql 	 (surface) 	3 

f1T1 	aff9.14 t(.g 	ITFO 	41:1 

-11-471 
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(b) ft i TriTT-11 	( irrigation command) d-ud 	2 

fTf-4r-  TRPT-dr 	mirti 	fofa71 

(c) ati  	.kfTr-4-f-d 	cpeordVf--A7 i 	2 

(d) 	 TN 	qi AQ1 	 -vita. 	3 

14 III- 21-r ? 

	

3. 	(a) 	(1 KEcrr 	trftirrrisrff wl-f-A71 	7-4 tri.  2+3 

771-0r 3fd-T 	73:re Vf-A7 

(b) citii ,310 	 4-olei 	 (*if 	? 	3 

(c)  

TO- 	I 

	

4. 	(a) a-Tr&t..t. 	ITT 31174 	? 774T-P-119 379.  1+3 

ca-ispa-u 	 41q-r 

49T-7 I 

(b) 	 ( watershed) 	4rt 	iTTRI7Vr---4 I 	1 

(c) rarer 	(.1 411-{ I RI 	reirtit 	(11}-h 	 5 

(girci4 t 5N)Ji Trri 	7 

	

5. 	(a) t.1  :117.t. w 3Trvizr t ? 7rwr 	zkvzi 

WEIT 2.1T ? Wtl• qt,•aird chj.  TT ? 	1+1+1 

(b) ,710 4117 -51449.  t flsr-47 T97 V1771 	2 

(c) 3-Tre cicis kj(L,V- 	(14917 , iroraitrzil 	2 

"4-  TE4- -9T-47 I 

(d) slrn airacr'1174 zEr-o-araT 1,(.t.  77 3  

t? 
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6. 	7-d-4311 yft4ll 	atig 	 4  

(bottom up) -sWur 4-WCf mfr t ? 

(b) Ac1497 4ft4 	iii 	311Tr cbigi-qq-f 	(.1q, 	3 

1*-P-TITff (institutional) ) 	;EfT 	 

t? 

(c) ■11(14147 tei A-114 .ef C.111 4A. 	kl\rei 	r 	3 

~ilsrl 	%OM :Err t ? 

	

7. 	(a) 	 .441 3TRITI t? 	 1+4 

id-t cni4  	 ? 

(b) 	 qz11 3TT7174 t ? 	 5 

(ii) 

(iv) 71'.7q.. 

8. 	(a) 	3-T7 3iiziRzi 	ct.A 11-4N -41-4>T 	u 	5 

ra -c4Ruile{ rtisaff .4-  q41 A9r47 I 

(b) 	cbcf (integrated) TR{ trzfazq 3171.  444 2+3 

1,11,qA 

 

t? 	.511p 	tr-4-wi. 	Tft f 
14)+K-f (cropping) 1Tedt-14 	 tichcif 

*1  
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